7o 10 e & vt oo S-RAEH & I W A SNOHLIR. ST W @ i O oeRd & 1 AR ORI T 9 Se-gRas
%Wﬁﬁ%maﬁgg‘gmssingWmsprintﬁﬁﬁﬂmaﬁaﬁﬁ%m-mwal

Sub. Code No. — 1302 Level -3

PGT - For Lecturer
[ 1 Exam., 2023

SET-A ENGLISH - QR i T SO G, i

Question-Booklet Serial No. & O. M. R. Serial No.

39 U-gRaw & gt A | uw @ Fen T

No. of Pages in this Question Booklet — 32 | No. of Questions — 150 Time — 2.30 hours
STTFAIE (BT ) / ROI NO. (IN FIGUFES) ..o
ST (FTRT H) / RO NO. (IN WOIES) ... eeeeeeeessssssaae e eeeeeeessssss e e
TOET B BT AT / NAME Of EXAMINATON CENE ...ovooeecveocveocveeeses e s s s s ss s ses s ses s ses s ee s se e es s essssens s ee e sssanenan
AT BT AT/ NAME OF CANGIAALE -....ooveo e ee e ee s ee e e e e e e ee e e e ee e ee s e e e e e ee e ee e see e eee e eeee e eee e seneeseneee
e & TE®R / Signature of Candidate 1l @ SR / Signature of Invigilator

et 10 BFe F a ge- R B¢ el B w7 q SR T 7 A fEwer A & e R smem aR ge-gRawm @ W =
N FH HO T Sfhd & A1 By IS missing q1 misprint B A T IR UGS § AT H IT-GRAH T/ A1 IHb G Hig @
®HR T B sem 37 10 B @ iR, ue ) SW oikd F B T R 2.30 R W oo Rar som aRk Bl el @
ge-gRaem & Ru T Rl o o § B8 R @R W wie & A g R ol oden wly @ Sui dfvaeT & @ R s R
ST o T PR SR $ AR 39 @ § AU SRieeT 98 PEed 7 6 S 99 8 36 9 B 96, 39 e § A
faet W A Rer 7@t Ren smem

IR Bl go7 F B 7 oA aregw 7 Rrar & at o aregm @y g9 3T TAT AW

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

ﬂﬂﬁﬁ % e ﬁiﬂl/ Instructions for the Candidates :—

1. AR IR EF 30 WT-GRAH F ORI @ Bl T A T-GRAE TR # Fel I, A IR T e F EH ¥ dAd F A
‘En?;'c' ﬁ;f F\’( foaRr ‘ﬂz{tl / The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the Question Booklet, take
out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.

2. wem 5 o/fy 2.30 ¥ R U QQ:T-W # 150 w9 i BE TS SiH el 1 / The test is of 2.30 hours duration and consists of

150 questions. There is no negative marking.

3. AT R o 0 @ I TE W MM @ & T dad B S 9 O F S B STl 9eT-gRawm B I &
I U5 P AT § @Y 91 / Use Black Ball Point Pen only for writing particulars on this page/darkening responses in the
Answer Sheet. The candidate should remain careful in handling the question paper and in darkening the responses on the answer
sheet.

4. yum 10 fFe #, 75 o ghRed & & B oe-gRam #HF o S T FHiE 0 8 81 OFR 38 B 8 a1 ged-gas § i s
missing I misprint & @ TR EH IA-YRAH AR IR T AN B U REF B T A FE / Within first 10 minutes,
also ensure that your Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy or any page
missing/misprint in test booklet, then the candidate should immediately report the matter to the Invigilator for replacement of both
the Question Booklet and the Answer Sheet.

5. qaA-3 [ YaHT & fo ] 5. Level-3 [ For Lecturer ]
qF-1 S o 9 Rem e 71 | 599 30] PART-1 : Child Development and
S LB o (M99 31 & ¥ 60] DRRTL : 1L Pedagogy [c[)insl :O g”' Zg}
. i -II : Language: n. o Qn.

(- 155 = 11857 (Hindi : 15 Qn. & English : 15 Qn.)

AL 2 T S [T 61 & 53 90] PART-III: General Studies : [Qn. 61 to Qn. 90]
(' A a|'; T : 10 9, Tk ST < 10 SR, |Ird (Quantitative Aptitude : 10 Qn, Reasoning
T T A : 10 95) Ability : 10 On, G. K. & Awareness : 10 Qn.)

-V @ el M7 91 & U3 150] PART-IV: English [Qn. 91 to Qn. 150]

|@‘T€{T £l ngW & o & Ru 9w R B ‘?Iﬁfl / Please read other remaining instructions given on the last page of this booklet.]l




% %@ % fT [FOR ROUGH WORK]




9T — 1/ PART — |
I fer g e / CHILD DEVELOPMENT AND PEDAGOGY
fraer : frfafad g9t & SR 39 & T @9d SR fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

oS ®9 § dfad g=a @ oY ke
e 1 {378 IugeRt =il 7

1) eFvee farem
2) fafmse faren
3) GHash faren
4) ot e

frfofag & @ - Fo e

® TH-OEhe O BEd @

%Fvl’ﬁﬁ fNEer & dE9g ¥ gal

?

1) SE-YeaM & HHS FMI-gHorh
75 ol

2) STE-UEaN U FONeTh HAI-arHIoTh
R

3) OR-Yed TH ey Hel-HMINTh
RS

4) E-YEAN His HA-GHIE TBY
& & B

TF gL S H efed § 9
H-41 faQwar 72 3E A ' ?

1) SuEn Ride
2) A o=
3) I HEAN
4) TN o=

[ Level-3/1302]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a

psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations

4) Conventional thoughts

P.T.O.



[4/A]

4, fr=fafag & @ a9-dr foQwan
IR @ URRAT T HhIHD
g9 7gf S 8 °

1) GHEISE & § @i FaBr
2) g T AFER
3) WIS R @l e
4) | YaiEl & faeme

5. qEFNCEn & HHIE  fgwE &
el &y ® ¢
1) =1 @ad ®9 9 R’ B Gendl

2

2) ST @Wad @9 9 F Tel B
el B

3) =1 fRer S Al & fRsm #
T HT Gl B

4) v==1 e o Al & hew §
o 1 & T Gl B

6. R iz Reml N Sudfy =i
& F U B, A B BRI A
gmmwwqﬁmﬁmw

?
1) THERHSD 2) feFTEs
3) SWRIEE  4) ITHS

7. “OUEIN %99 [RAT @ de &l
Oifg & B, aick e ot fher off
= & SEEHR T 81 ot 31”7

f3rem § TEEIE & ¥E ofd fFEe
ARV T G B )

1) Tfo Hio Tho 2005
2) THo Hio o 3o dlo
3) T

4) e

[ Level-3/1302]

Which of the following characteristics
does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal

Development' refers to :

1) What the child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of Lknowledgeable

person
4) What the child can't do even
under guidance of

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative 2) Diagnostic
3) Remedial 4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT
3) UNESCO
4) UNICEF



[5/A]

8. Q_ﬁi g @ ¥ 9 JeR % aRaad 8. Which type of changes occur in

Aq g ? growth and development ?

(@) X & IR H 9Raaq (@) Change in body size

(b) SRR & U H IR (b) Change in body proportion
(c) YU Tl &l faeiia (c) Disappearance of old features
(d) A faQarett 1 AR (d) Acquisition of new features
@&l R B TI HIOTC : Choose the correct code :

Ze - Code :

) (@), (®) W@ () 1) (@), () & (c)

2) (), () W@ (@) 2) (a),(b) & (@)

3) (a),(c) @ (@ 3) (a),(c) & (d)

4) (@), ®), (c) W@ (d) 4) (a), (b), (c) & (d)

9. Ffafad & & PM-A1 HIF RN 9. Which of the following statements

& AH W THRHS U9 WL 78] does not explain the positive

Yl 7 impact of motivation on learning ?

1) SIERET diEw & Haer @l &l 1) Motivation impairs learning
F & behaviour

2) RO HiEM @ FaeR @l 2) Motivation provide definite
ffeaa Ram wo #H B direction to learning behaviour

3) AEROT e & FA@ER | 3) Motivation energizes learning
ik A © behaviour

4) TN HEeW & FGRR B 4) Motivation makes learning
CERICACEIRIE behaviour selective

[ Level-3/1302] P.T.O.



[6/A]

10.

11.

12.

PEAT & Ak GEd e &

T Afqmar @ oTERrel @ S®

R & gAfea it

At @ o v
CORGES

(a) STB SFqadieds Gy I

(b) HAfKaR T fa-w 11

(c) ISR STy Te i
JafRTH SR

(d) AEHIHE FEm

7&7 FT & I HINTC

&< -
@ M © @

H 1 m uI

2) m m m I

3y I m 1 I

4) 1 I Im

S e el w1 bl o fehel
5B 1 IR & AU AW dE
ST &, O 39 &8 © ¢

frefifeg & @ @9-a1 HF Afas
IR %G9y § TR 78 2 ?

1) 3 gdifs 8
2) 3 TG B &
3) I Hfad WX & oL oTasa® B &

4) 9 g B qERAG 9 geia T
ad 8

[ Level-3/1302]

10. Match the stages of morality with

11.

12.

their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ M © @@
) 1 111 II I
2) III II 111 I
3) II 111 I II
4) 1I I 111 111

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.

15.

Frefafed & & d9-@0 T &
AR A eI Hl AR & ?

(a) fifea (b) A
(c) A@ERE  (d) TN
7l T B TIA BT :

%c -

1) (a),(b) T (d)
2) (@), () W (c)
3) (a),(c) T (d)
4) (a), (d), () W@ (d)

frefofeg & @ S9-91 %N
el & dedf § 9 78 2 ?

1) TQeeieY & 99 T e Th
feyares gdieror B

2) i Tdeor  dufede ot
HHeH a1 TR & & Fhd ol

3) oAl aAfe fsaes qdiEer {et
H G|

4) FgmiEh TRl H OgRE B A
fet wd ol BT & R

STEA™
1) A 3
2) W IER|
3) HeHih fspar
4) qEY EEREES!

[ Level-3/1302]

13.

14.

15.

[7/A]

Which of the following
examinations are the basis of
continuous and comprehensive
evaluation ?

(a) Written (b) Oral

(c) Behavioural (d) Practical
Choose the correct code :
Code :

1) (a),®) & (d)

2) (@), () & (o)

3) (@,(c) & (d)

4) (@), (d), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.

Which of the following pair is not
correct regarding elements of
intelligence and their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension

Intelligence

1) Unit Product

2) Cognition Operation

3) Evaluation Operation

4) Relations Content
P.T.O.



[8/A]

16.

11.

18.

19.

frffag & @ ®9-G 99 Biwd
;ﬁmg&ﬁwaﬁw%@waﬁ
?

1) TefE HEN & oEEr

2) UHd [T 7R

3) HId Yok
4) g e |qid

qUgq & , UEOTEE dEn @
-1 e ST 7

4) T HIE (3T5H) qeH

[ Level-3/1302]

16.

11.

18.

19.

Which one of the following is not a
key feature of child centred
learning approach ?
1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?

1) Adaptation
2) Self-observation
3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Stermmberg Triarchic Theory ?

1) Meta component
2) Experimental component
3) Performance component

4) Knowledge acquisition component



20. TF oMfm fElEar St siERRE

21.

22.

23.

P B SATETT H TAIT HA & ¢
1) eagar 2) feenfte
3) fewifrmr  4) feifmfemn

e AT | 1 A e e M e et e

urEl ofaeenet & @@ W B T

FifoTT

1) gEEer — i ggemEeEr -
HTFEGRT - R -
SEEIT-2CI)|

2) TEEEl — FEEEe — [T
TR —  SeArEdEer —

BRCICESl]
3) EEEl — TEERT — (A
JOERT - SfeFER -
EREIE-RICIS|

4) FFFER -  EEE -
QR — S — &
e

YoqE & e ofEed oM
SEITh! & SRIAHT BN DA BIicTh
9 e H s gead T ?

1) HHEITD 2) fodifea
3) Gad 4) 9T
e & s O ’Meid @
fpg  ofgwem  H fae  aun

%vsrr:rmﬁw B g BRI B Sl
?

1) GIE-THh

2) Yd-GHAS

3) Yai-HishareTeh

4) SNUEREG-HiATHE

[ Level-3/1302]

20.

21.

22.

23.

[9/A]

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect

learning ?
1) Simultaneous 2) Delay
3) Trace 4) Backward

In which stage of Piaget's Cognitive
Development theory does the
ability of abstract thinking and
generalization develop ?

1) Sensory motor

2) Pre-operational

3) Concrete-operational
4) Formal operational

P.T.O.



[10/A]

24.

25.

26.

21.

gicenanen feenEt & fog Ffarad
T B9- Afeep Fan 7@ B ST
qieq ?

1) @ Uode & & G

2) @I
3) IYARHS [ereror
4) HadS HEFH

frfofag & @ aF-or uEsh Ren
H T Sid & ' 7

1) TRl Al i

2) T @ fwia

3) fafgean @ sies9 79 &1 osid
4) T & R & &S|

frfafad § @ PM-a1 qe Jafs
Rrraiell & ogaR Reor & gwedq
7&f e ?

1) fEnfEr @ w81 @9

2) JARTH PRI

3) UIGTHH STIHA

4) foente & g9t @& §H

i sasFRael  a S== @
AEEEN B W FE H JeE
eI & g T8 S 7

1) [S91 9e9g &% fOened | masr &+

2) §aw g gREmd see B

3) I AT STETHa B TEAI
Td GO § 98T TG

4) I° HEWH HEEdl QO G
HET

[ Level-3/1302]

24.

25.

26.

21.

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching
4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation

2) Principle of cooperation

3) Principle of celebrating diversity
4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students

2) Individualized instruction

3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services



28. =g & 9 d9-91 &9 e &

29.

30.

g ¥ 98 78 B °?

1) foFE 9RuEar wd o™ @
IR B

2) URME fad & o § SE &l
foepre atfres iR 2 B

3) fomm foX @ W i Rsm & om
Il 2

4) fTFE =G oW ¥ B8R & X
el 2|

qurash frem # B feia ke
0 Sfoded fekar @ ?

1) By, W wd Rwnas
2) X Td farnt

3) HGAY TG B

4) Wqehl, Sfa9 T T

d gRugEar TN’ Gl & I8
g fhes a o & T R ?

28.

29.

30.

[11/A]

Which of the following statement is
not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of
the inclusive education

propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) S+ S 2) Me 1) JohnDewey 2) GCarret
3) AR=EA 4) WD 3) Soremson 4) Hurlock
[ Level-3/1302] P.T.O.



[12/A]
ART— 11/ PART = I

A1 (=) wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : fefafad gl & SR 39 & e @9l S faske g

31.

32.

33.

34.

fqQwer & deg & dHi-ar w@é gatad

& T 7

1) R - | 9 i &k

2) Ufedd - fA9uer @ SavEe

3) UREH - JorErE Qe

4) Y - G § WG HEaEs
El

g foecq # =-g™ &1 TE 7Y AT
78 5 ?

1) SEf - @, 9 - e

2) WY - g, 7Y - gEA

3) IR - T[l, AT - Sl
4) THI - 4, g - |

HI-91 H @ 7 © 7
1) g - d 9=
2) HE® - TgHd 9=
3) Ra=dl - I =
4) VA - [k o=

frefafeg & @ 59 fae &1 9=
wfy-faees # e @ T ® 7

1) FUEE = FI + o6

2) I = aar + ST

3) AMHIN = T b + 0

4) TgH = Y + A

[ Level-3/1302]

35.

36.

31.

38.

fp faheq & WHE W SR
THE H1 ISET 78 & °

1) S, fuEe
2) dHsard, RS
3) YA, HarEd
4) UERR, qgqufa

frg faeeq &1 = ‘o ITEd A
fffa 7&f = 7

1) M

2) i

3) I

4) IFER

1 # 9 e 9T @ 9= foeee
gt | fafa § °
1) Uedtad, siferEr
2) ST, FHHEL
3) Regd@R, ST

4) R, TNl

EaE 9|l & g9g ¥ -
feeq ofgfaT @ °

1) I=AT - AR, rgdiy], wedd
2) &S - G, JuHl, A&

3) T=A - TNEN, JAge, QU
4) T - FERAICH], AT, YR




39.

40.

41.

42.

A 3fte & e faeey & a9t 9=
g ?

1) T, @R

2) TG, SEY

3) e, stfewn

4) RfE, T

‘TRTHT Tl ¥ ARG H SR S’
ST ad § @ifed I HA: ©

1) SHiFqdres HsM qT Sicaraeh G5l
2) Sliadres G5 qo1 Agars dsi
3) Aiddrash Gsl T Afkiars ds
4) HEqED G AT Aldreh G5

Fr=1 & & e qerer & ord ' 78

g7

1) T W X T BN - SR
BTl

2) Y F T TX A - foFT T

& Pz T U HT A
3) TH gE UM UMT - THdl &)
LIRSS

4) HM ¥ ) a1 - B @
CEREREI

fpar & Gey § ofgfad faeed g ¢

1) & & AR W Bba & ‘i
wd ‘oTHE & 9T AW S o

2) gﬂﬁ PRe | DE e R e GG
[

3) T g7 4 & forgam 1’ I
qrR # IR AT SgE & o

4) ‘SiEEr, WA TE AT
AT BRa % SRR B

43.

44.

45.

[13/A]

M & e ¥ PN-91 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACREIIEE
M I

3) ‘TEVEEE HAAH & IR e AW
ST &l

4) @ G4 @ g & 9 Al
[ B Bl aEg B A A R
39 FerEaras 9dm ®ed 2

frg faey 4 Rodaeis 3@ ommT
T ?

1) T - Jaad

2) T - HENE

3) & - &g

4) M - WER

THT ® MU THA 9% P Gey H

ST T T
1) S & H g | IFRE T & -
31ag

2) fored #ig = 7 & - vy
3) HYE H W dwril AT - @

4) S HoE WM P fow SRk -
R

[ Level-3/1302]

P.T.O.



[14/A]

Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1302]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :
He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have

2) hashad

3) have had

4) had had



53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

[15/A]

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1302]

P.T.O.



[16/A]
AT - 1l / PART - Il
M 31599 / GENERAL STUDIES

RS QdT, diihe STl el 9T S U9 IREI / QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS
fraer : frfafad gt & SR 39 & e @9d S fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

6l. I A U RR & I0 W IX f&sm 61. If A stands on his head with his
AR AU Pe F& @l §, ol face towards North, in which
SH a1 By & feam R direction will his left hand point ?
1) IR-gd 1) North-East
2) Ui=H 2) West
3) EH 3) East
4) JA-Ui¥EH 4) North-West

62. T% A 20 fhHl g & oI & fas 62. A boat goes 20 km downstream in
d U gue H @ oI 333[ N U B one hour and the same distance
g fGem & 2 g9¢ § @@ &l %, upstream in two hours. The speed
@ AT ST H A9 B A R of the boat in still water is :

1) 10 fHt/=0er 1) 10 km/h
2) 12 feHt/gver 2) 12km/h
3) 13 Bl /guer 3) 13km/h
4) 15 Wl guer 4) 15 km/h

63. 15 oHidl & e H 7 oA fewl 63. In a group of 15 people, 7 read
Ud 8 M SN Ugd § o 3 Hindi, 8 read English, while 3 of
Tk g R s R xS them read none of these two. How
‘Eﬁ %, ar ‘iﬂq 9 fhae Al o=t T many of them read Hindi and
SIS AT B Ued § 7 English both ?

1) 0 2) 3 1) 0 2) 3
3) 4 4) 5 3) 4 4) 5

[ Level-3/1302]



64.

65.

66.

61.

68.

TF Fem § 35 foEnii H, A & w®N
9 9 7d W@ B & WM IW 4
oF WM W & T C & N 37 aNf
H O AT HE, A C & @W A H
BT B ?

1) od 2) 10df
3) 114 4) 12df

Teh %= e A § 'CEG' &l ‘TSR’
qgr FH]' & 'QPO' for@m ofam 8, af
T g9 9w " IKM' & fer
ST

1) NOP
3) NMK

2) NOL
4) NML

e}l EAML ¥ fha @1efd 9 91
ST Hhd § 7
1) 1
3) 3

2) 2
4) 4

uh Frfd sggst 4 o= &oT ud
S BT H U 7:2 B, Ao W

TS I TS B HEA ©
1) 7T 2) 8
3 9 4) 11

el ST @l & T 9
BIRECTE L
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

[ Level-3/1302]

64.

65.

66.

61.

68.

[17/A]

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly
between these two. What is A's
position from C ?

1) oth 2) 10th

3) 1lth 4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1 2) 2
3) 3 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 17 2) 8
3) 9 4) 11

Find the next term of the following
number series :

2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

P.T.O.



[18/A]

69.

10.

11.

12.

13.

T A BN TF o Bl T 8 g9 H,
99 B & 34l d% &I oThd 6 gUe H
T o Hhal 21 IR} QT A B T
Y 2 99¢ % o e & 99eq A
A P F< FK A Y, @ 7@ B W
ST & e AT T ?

1) 2 g2 ¥ 2) 2% gue §
3) 3y {  4) 3% gUe H

gfe fordr ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 + 81 = 29 &, a
3 Yod H 47+ 33 HT 9 B -

1) 40
3) 38

2) 41
4) B3

g 17 =R, 2002 @ AFER o,
o 22 RE=R, 2004 @ H=-d1 A
qr ?

1) Uaar
3) THER

2) ErR
4) HIAR

Aot 1 ST 0T B -

Z1A, X2D, V6G, T21], ?
1) R8TM 2) R8IN
3) R88P 4) R88M

IS Ui H, & AP o
AN STel & HeY Blg T P&

e u ¥ FH A 9wl g,
frfefag Attt § f-d9 39w
T I B B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

[ Level-3/1302]

69.

10.

11.

12.

13.

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
3) 3hours

2) 2% hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 % 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday

3) Monday 4) Tuesday

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of

letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU



14,

15.

16.

11.

18.

x-378, y-3T87 QU 4x+3y =12 &N

M Bys & SerEa & B @
1) 2 3% 2) 2.5 THE
3) 3 IHE 4) 4 THE

g8 999 B4 & A Hiow, o
15463 ¥ Siig< WX 9T IFT%S 107 §

qoicar e & S @
1) 52 2) 55
3) 11 4) 16

gl ® g H fhE oTgu H TR
S ST fob O [ bl g e W
ST T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5

s iYEd Ui @1 4% affe W ®
2 a9 % fou Fhdfs &9 @ A
& & I ©

1) 52:51 2) 52:50

3) 51:50 4) 53:50

a A B am c ¥ L2683
‘ 2°3'5

U H YSIl R Th AR I

fFam 4 W& usaTg A R STO OSh
50% o1 faam 3 af & o F
21,600 ¥ F AN A B, A W

A9 H AB & RE R
1) 2,400 TG 2) 3,600 TWI
3) 4,000 9 4) 4,200 TII

[ Level-3/1302]

14.

15.

16.

11.

18.

[19/A]

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2

yearsis:
1) 52:51 2) 52:50
3) 51:50 4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

z : 4 : 6 After
2 3 58

increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the

profitis:

4 months, A

1) Rs.2,400 2) Rs. 3,600
3) Rs.4,000 4) Rs.4,200
P.T.O.



[20/A]

19.

80.

8l1.

82.

83.

Th AEH 20% Y U Uh &
SO B, A I I & 12 TW@
e § o=, af 39 10% H ArH
BTl 3 % H HY YA ©
1) 22 @ 2) 30 W
3) 36 T 4) 40 TW

Ve Va

a*+a” 1-a~
+
l-a 1++a
a

R B

1) 2)

a-1
a-1 2

3 2 g 2
a— l1-a

Qfrerfees g g oTafed © ¢

1) o R
2) FHHEe o

3) IR ot &
4) Geeh o

fpe B 9 TR, 2023 H AR
US[d &l B fhar ?

1) o9 fqeeg

2) e fasE

3) I e

4) e

gaen & Mefied togaen H 9
P omE W TH S & ?

1) & gHaR

2) 4 YT g S

3) 4t sl ST T

4) o gLoid e gearier

[ Level-3/1302]

19.

80.

8l.

82.

83.

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30
3) Rs. 36 4) Rs. 40
Vo oYV 1Y
a_+a + 1-a is equal to :
l-a 1++a
a a-1
) — 2) —
) a-1 ) 2
3 2 g 2
a- l1-a

Historical village Sugh is located
in:

1) Ambala district

2) Kurukshetra district
3) Yamunanagar district
4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[21/A]

84. ARUFMIN WU & T W< &L § 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. T ¥l @HRIE fhH W H A 85. Geeta  Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI faT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
ST B E 7 Haryana  Right to  Service
Commission ?
1) & o dio T 1) ShriT.C. Gupta
2) i foog agw 2) Shri Vijay Vardhan
3) @ LRl Yeal¥ 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B UfeU - about Sadhu Nischal Das :
() 9e g & R 9 (i) He was a Dadu's disciple.
(i) 34 T g&H FER A (ii) He compiled a book 'Vichar
LEINNEETH St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
H?a?ag?f & T FIT - Choose the correct code :
1) %ad T (i) T 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A FAT (i) M A & BAT (i) 3) Neither statement (i) nor
e statement (ii) are correct.
4) A FHI (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1302] P.T.O.



[22/A]

88.

89.

90.

R § RERT S $E el Red
g7

1) fiER
3) T

2) gMUq
4) ToqEm

BRI o9 Hehll HY Td A
ferpre 1S o &l e &9 g8 ?

1) S¥adl, 1967
2) TR, 1966
3) A, 1980

4) SE{l, 1996

gaem § ardg SrEnfiEn

YN &l g B 7
1) Hgd
2) UNNd

3) T
4) FHHEA

88.

89.

90.

In Haryana, where the Chinkara
Breeding Centre is located ?

1) Pinjore 2) Panipat
3) Jhajjar 4) Bhiwani
When the Haryana State Co-

operative Agriculture and Rural

Development Board Ltd. was

established ?

1) January, 1967

2) November, 1966
3) March, 1980

4) January, 1996

Where the Indian
Institute of Information Technology

in Haryana,

is located ?
1) Sonipat
2) Panipat
3) Ambala
4) Kurukshetra

[ Level-3/1302]



[23/A]

HAT -1V / PART - IV

Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

d fe Id d thing,
Direction : Read the poem and answer the ana foronce cou © notaung.

Question Nos. 91-96. perhaps a huge silence

Now we will count to twelve might interrupt this sadness

and we will all keep still. of never understanding ourselves

For once on the face of the Earth and of threatening ourselves with death.

let's not speak in any language, Perhaps the Earth can teach us.

let's stop for one second, as when everything seems dead

and not move our arms so much. and later proves to be alive.

It would be an exotic moment Now I'll count up to twelve

without rush, without engines, and you keep quiet and I will go.

we would all be together 91. The theme of the poem is :

in a sudden strangeness. 1) The power of being the best
Fishermen in the cold sea 2) The power of silence and
would not harm whales thought

and the man gathering salt 3) The power of money

would look at his hurt hands. 4) The power of good health
Those who prepare green wars, 92. What does the phrase, 'count to
wars with gas, wars with fire, twelve' mean in the poem ?

victory with no survivors, 1) The number of hours in a clock
would put on clean clothes 2) Random numbers

3) Number of people he talks
about in the poem

4) A number liked by the poet

and walk about with their brothers
in the shade doing nothing.

What I want should not be confused.

with total inactivity 93. The word 'Exotic' in para 3 means :
Life is what it is about; 1) Traumatic
I'want no truck with death. 2) Melancholy
If we were not so single-minded 3) Sweet
4) Unusual

about keeping our lives moving,

[ Level-3/ 1302] P.T.O.



[24/A]

94.

95.

96.

917.

Identify the figure of speech used
in the lines :

And walk about with their brothers
1) Anaphora

2) Metaphor

3) Pun

4) Personification

The underlined words refer to
which literary device ?

What I want should not be
confused with total inactivity.

1) Alliteration
2) Simile
3) Onomatopoeia

4) Metaphor

Which of the following is not a
synonym of the word 'Victory' ?

1) Triumph
3) Defeat

2) Conquest

4) Success

Choose the correct option from
the following :

1) UNIVAC (Union Automatic
Computer), New Zealand

2) UNIVAC (Universal Accessible
Company), U. K.

3) UNIVAC (Use and Connect),
U.S.

4) UNIVAC (Universal Automatic
Computer), U. S.

[ Level-3/1302]

98.

99.

100.

101.

Choose the correct option :

Someone who collaborates with an
enemy, inside or outside one's
country is called :

1) Quisling

2) Diplomat

3) Ambassador
4) Philatelist

Which of these words is not a
synonym of 'cunning' ?

1) Sly

2) Scheming

3) Crafty

4) Congenial

Identify the story in which the two
characters 'Sophie and Jansie'
feature :

1) Lost Spring

2) Going Places

3) The Last Lesson
4) The Rattrap

Identify the part of speech of the
underlined word :

There is much sense in what he
says.

1) Preposition
2) Adverbs

3) Pronoun

4) Adjective



102.

103.

104.

"Greta Garbo, must have used it.
Miss Gohar must have used it.
Vijayantimala must also have used
it, but Rati Agnihotri may not have
even heard of it."

These lines are an extract from the
chapter :

1) Lost Spring
2) Indigo
3) Poets and Pancakes

4) Deep Water

What is the full form of "TESOL' ?

1) Teaching of English to

Speakers of Other Languages

2) Taught of English to Speaker of
Own Language

3) Teaching of Electives to

Someone of One Language

4) To Engage Students in Owning
One's Language

Choose the correct meaning of the
underlined phrasal verb :

Look over what you have written
before handing it to the examiner.

1) Inspect critically
2) Search for
3) Maintain a standard

4) Lower down

[ Level-3/1302]

105.

106.

101.

108.

109.

[25/A]

Choose the word which is
correctly spelt :
1) Villain 2) Tolrent

3) Assistencce 4) Saprate

Fill in the blanks with the correct

option :

Not only the head office .......... the
branch offices also ........... been
computerised.

1) but, have 2) as, had

3) and,is 4) is, have

Identify the underlined clause :

I wonder whether that's a good idea.

1) Adjective clause
2) Adverb clause
3) Noun clause

4) Participle clause

Fill in the blanks with the correct
option :

The busiis .......... the bus stop. It is
going .......... the mall to the
University.

1) in,to 2) upon, to

3) from,in 4) at, from

Fill in the blank with the correct
option :

What's the ............. time we can
leave and still catch the train.
1) later 2) latest
3) late 4) latter
P.T.O.



[26/A]

110.

111.

112.

113.

114.

The author of the play 'On the Face
of It'is:

1) Susan Hill

2) Pearl S. Buck
3) Colin Dexter
4) Kalki

Which of these consonants is not a
nasal consonant ?

2) n
4) ¢

1) nn
3) 7

The astrologer in the story, 'The
Tiger King' warned the king of
which number (of Tiger) ?

1) Fifty
3) Hundredth 4) Twentieth

2) Seventy

Choose the correct option :

studies the
transmission and

Science that
production,

reception of sound is called :
1) Actuary 2) Apostrophe

3) Anatomy 4) Acoustics

Fill in the blank with the correct
tense :

People who have no faith in art
........... the art schools.

1) runned
2) are running
3) will be running

4) isrun

[ Level-3/1302]

115.

116.

111.

118.

Name the author of the story, 'The
Rattrap':

1) Louis Fischer
2) Anees Jung

3) Selma Lagerlof
4) A.R.Barton

Some people can sing better than
others.

The underlined modal expresses :
1) Possibility

2) Ability

3) Prohibition

4) Permission

Fill in the blank with the correct
preposition :

There are two beds ............ the
cottage.

1) in 2) on

3) at 4) upon

Fill in the blank with the correct
modal :

This article ........... have been
written by a woman.

(Belief because of particular fact or

circumstance)
1) can 2) may
3) will 4) must



119.

120.

121.

"Deep Water" by William Douglas
is an extract from :

1) OfPools and Seas

2) Of Men and Mountains
3) OfTrees and Rivers

4) OfFear and Water

Choose the Indirect

Speech of the sentence :

correct

"Do you want to go by air or sea ?"
The travel agent asked.

1) The travel agent suggested my
going by air.
2) The travel agent asked

whether I wanted to go by air
or by the sea.

3) The travel agent enquired of
my going to be by air or by
sea.

4) Asked the travel agent of my
going.

Choose the sentence which is
grammatically correct :

1) I bought two dozen apples and
four score mangoes.

2) I bought two dozens apples
and four scores mango.

3) I brought two dozen apples
and scores four mango.

4) I bought to dozens apples and
for scores of mangoes.

[ Level-3/1302]

122.

123.

124.

125.

[27/A]

Which of these is not an aim of

teaching English at the school

stage ?

1) To enable the pupil to speak
English.

2) To enable the pupil to read
English.

3) To enable the pupil to
understand English  when
spoken.

4) To enable the pupil to pass
exams quickly.

Choose the correct Dipthong of the
underlined words :

child, find, fly
1) o1 2) 6u
3) ai 4) au

The correct phonetic transcription
of the word 'Expectation' is :

1) ekspekteifn
2) ekespek/tein
3) aceptein/n

4) Expeckteifne

"Oral training, inhibition of the
mother tongue', Inductive teaching
of Grammar and teaching New
Vocabulary" — are the principles of
which teaching method ?

1) Direct method

2) Bilingual method

3) Grammar translation method
4) Rhythmic method

P.T.O.



[28/A]

126.

121.

128.

129.

The new system is ...........

system is
complicated ............ the old one.

1) more,than 2) most, as

3) less,less 4) as, most

Which talks
American prisoner and a Japanese

story about an

doctor ?

1) On the Face of It
2) The Enemy

3) The Third Level
4) The Tiger King

The following lines are an extract
from the poem :

Trees sprinting,
the merry children spilling
out of their homes, but after
the airports security check ...
1) A Roadside Stand
2) Keeping Quiet
3) A Thing of Beauty
4) My Mother at Sixty-Six

Fill in the blank with the correct
option :

I'll phone you ............ lunch and
Four O'clock.

1) by
3) upon

2) between

4) at

[ Level-3/1302]

130.

131.

132.

133.

134.

Which of these is not a language
skill ?

1) Translation 2) Speaking

3) Reading 4) Writing

Choose the word which is

correctly spelt :

1) Proffessional
2) Professional
3) Professionel

4) Proffessionel

The antonym of the word 'Affinity’
is:

2) Modern

4) Sympathy

1) Aversion
3) Weakness

Identify the tense of the underlined
words :

By March, I will have been doing
this job for six years.

1) Past Simple Passive
2) Present Progressive
3) Future Perfect

4) Future Perfect Progressive

Identify the figure of speech in the
given sentence :

"So innocent arch, so cunningly
simple."
1) Oxymoron 2) Simile

3) Metaphor 4) Hyperbole



135.

136.

131.

Who is believed to be the 'Father
of Grammar-translation' method ?

1) Ferdinand De Saussure
2) Maxmillar Berlitz

3) Karl Plotz

4) Noam Chomsky

The following points form a part of
which method of teaching English ?

(a) Lays emphasis on speech.

(b) Follows child's natural way of
learning a language.

(c) Teaching language by use &
not by rule.

1) Direct method
2) Grammar translation method
3) Structural method

4) Linguafranca method

Fill in the blank with the correct
option :

............. to English is teaching the
pupil certain selected structures in
a certain order.

1) Communicative teaching

approach
2) Structural approach
3) Weak version approach

4) Classroom approach

[ Level-3/1302]

138.

139.

140.

141.

[29/A]

Value-based approaches in
language teaching include :

1) Use of reason or rational
thought

2) Team teaching,
approach

humanistic

3) Teacher's individual skill and
her good looks

4) Needs and possibilities of a
situation

The study of the meaning of words
and phrases is called :

1) Semantics

2) Seismology

3) Stymics

4) Synthesis science

Choose the correct option :
He says, "Meet me at the station."

1) He says that we are to meet
him at the station.

2) He said to meet at the station.

3) To meet me at the station, was
what he said.

4) He says to meet us to him at the
station.

Fill in the blank with suitable
article :

He goes to ............. prison
sometimes to give lectures.
1) a 2) an
3) zero article 4) the
P.T.O.



[30/A]

142.

143.

144.

145.

146.

The past tense of the word 'weave'
is:

1) Woven
3) Wove

2) Weaven

4) Woved

The subtitle of the story 'Lost
Spring'is :

1) Childhood Memories

2) Stories of Good Childhood

3) Stories of Stolen Childhood

4) Stories of Love

The correct participle form of the
verb Freeze'is:

1) Frozen

3) Freezed

2) Froze

4) Frozed

Fill in the blank with the correct
option :

The power and influence of

Mahatma Gandhi ...... tremendous.
1) were 2) was
3) am 4) had be

The chapter 'Indigo' talks about a
famous personality. Who is he ?

1) Subhas Chandra Bose
2) Mahatma Gandhi

3) Rabindra Nath Tagore
4) KamlaDas

141.

148.

149.

150.

Fill in the blank with the correct
phrasal verb :

At first all sorts of difficulties .........
and delayed us. Later we learnt
how to anticipate these.

1) cutin
2) cropped up
3) came off

4) cutup

Fill in the blank with the correct
option :

Some animal species like dodo
have already become ............. .

1) extentitious 2) extinct

3) extent 4) extented

Choose the correct option for the
following blank :

We think of .............. as members
of the local community.

1) Ourselves
3) Yourself

2) Themselves
4) Myself

What part of
underlined word ?

speech is the

He lives so that he may eat.
1) Adjective

2) Adverb

3) Conjunction

4) Pronoun
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6.

s B JN, I G=h ¥ fraig =t # & 9| qrEe WA 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

% B Fl??—gﬁﬂ?ﬂ 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk B AT IR SAMGESH Sk H I q&a of 90 o1 (Fhe W) & TanT Mg 21/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TR% e & fow Ru e R fReed § & o fae 3 T OMR ST W% W 399 T 99 & & [0 T FM a6 @Re W W
Th d I T B B 9B IY To Tef o Gl 21 / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 S T B AeT 7 I Ud 39 W FE I M T ) ot ot i St W § feEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

I-RTH T I T B ANEE T H, Fie el 9 oRRefy § [eT-gRae 08 St T & i 5 e @ R &
@E’Fb_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T U L] Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W o § Ru U wHie @ ot @t alie @ xR e § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle A /A HaY W o) UEEM U & SiiRed R SR @ ureg-arh, a1 ST FIST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHT AT FhE ST TR & G B S A7 SUIRT B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S WX TA% ARt oo 5ae HE A o] 8 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

&% ordfes @1 wdwe @ 9w aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR B A ol wfen & e 818 AR fed et A
A R SRR A W EWRR Te Y q a8 qA SO % I IO T AE dern & X Fe o | H A qE S
OMR T T% 7 FHiRg @M R ¥t 7wl art a1 e & ofS &1 MM @ oI 81 oS & Femey I & &6 919 &
& @l WY @ 98 A & & &g oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

s@a@“rﬁm/mﬁa UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SEREl % _fw, orell R & & T sien/Rer-FRw @ 98 & i et @ B @ R am w0 ol aee &
ol A # e 9 3 Fem o e @ FER 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Ebllg AT ST T & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

TOE T BN W, ol e /AT Bie ¥ Jd IR U he-TdaEd A ofasd A 31 oned o | 39 Us-gRaE @ & o we
g /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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